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Performance Tasks

Task no.1:

Energy chain helps us to understand the energy used in operating devices.

There are two figures in front of you. Mention the energy chains in them.

Answer of task no.1:

1-Heating a pan of water over a fire: The light energy of the sun helps a tree to
grow. The energy is stored in the tree as chemical energy. When the wood is
burned, it releases thermal energy that heats the water.

Tree [V

Ellmannﬂl

/

Pan and Wivter/ Thermal
Theerrrisl Eraddrgy Enigy

2-We get light and thermal energies from the sun to convert the dead trees
into coal. We use coal to operate the electric power stations. Electricity
transfers to the hair dryer by copper wires to work.

Cal)
Chaprslcpl Erabtory

|

Hal Dwyor Povwes Plgod)
Hoad ] Elocincal Enorgy | s Thesrmal anc
Sound Kingtic Endrgy

Sun —_— Light Emnorgy —




Task no.2:

There are several devices which we use in our daily life. Mention 5 devices,
their functions, the used energy and the resulting energy.

Answer of task no.2:

' Device Function Form(s) of Form(s) of

. used energy | resulting energy

| Electric bulb | It lights Electric Light, Thermal
Hair dryer Drying hair Electric Sound, Thermal

' Washer Washing clothes Electric Sound, Kinetic

] Television Watching programs | Electric Light, Sound

] Bell A loud sound to Electric Sound, Kinetic

open the door




Task no.3:

The types of the cars may differ with the difference of the forms of the energy
used, There are some cars that work by solar energy, others work by electrical

ene and some aothers wark

If you were a decision maker in your city and you have to choose one kind of

benzene.

cars to be the only kind to use in your city. What kind will you choose
according to these criteria?

Criteria
Cheap source
of energy

;'irnlar car

Electrical car

_ Fuel car

Clean source
of energy

-Order the cars according to the preference of your city which has a lot of

sunshine hours.

-Write your decision and say why.

Answer of task no.3:

Criteria | Solar car Electrical car | Fuel car
Cheap source | v X X

of energy

Clean source | ¥ v X

of energy

*1-Solar car 2-Electrical car 3-Fuel car.

*Solar car use sun (cheap and clean source),




Task no.4:

Several electrical devices use certain energies and produce certain energies.

Can you write the inputs and the outputs of the following devices [electrical

bulb- hair dryer- mobile phone)?

Answer of task no.4:

Device Inputs Qutputs

Electrical bulb Electric Light- Thermal

Hair dryer Electric Thermal- Sound-
Kinetic

Mobile phone Electric- Chemical Light- Sound-

Thermal




Task no.5:

AENMUIEMENN

We need the energy in our daily life for operating the cars, warming and house
works. From these sources are Ethanol and Natural gas, what are the
similarities and the differences between them?

Answer of task no.5:

Source Ethanol Natural gas

Similarities -Both of them are -Both of them are
sources of energy. sources of energy.
-Both of them are -Both of them are

' liquid fuel. liquid fuel.

Differences | Formed from grass, | Formed from
wood chips and decomposition of
corn. remains of living

organisms.




e/ [Pl It
.ﬁ enmu(Ed’eq

Task no.6:

We use oil and water so much in our daily life, what are the differences
between them?

Answer of task no.6:
il Water
-It is from nonrenewable sources |-t is from renewable sources
of energy. of energy.
-It is formed from the -Water has two sources:

decomposition of sea creatures. | surface water (seas and

As the sea creatures died, their oceans) and ground water.
remains settled on the ocean
floor. They became covered with
layers of sediment and rock. Over
many millions of years, the
sediment and rock build up more
and more layers. All of these
layers pressed down. The layers
created great pressure and heat.
This pressure and heat slowly
turned the remains into oil.
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go everywhere by train. The train is an important
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about it.
! fgvorite transportation is

M - Ilike it because
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g A birthday party
irthday was last week, you and you

'___—-_

| ?
that did you prepare for the birthday party

irthday party?

. What did you dointheb

. How did you feel in the party?

s

Draw a picture of you and your family on the birthday.
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1- What is the difference between a proper fraction and an improper
fraction, a mixed number, and the equivalent fractions, with illustrations
and examples?

Proper fraction : a fraction its numerator is less than its denominator.

Improper fraction : a fraction its numerator is greater than or equal its denominator.

Mixed number : a number made up of a whole number and a proper fraction.

Equivalent fractions: fractions that name the same amount are called equivalent

fractions




2- You have studied in the order of operations that there are operations
that take place before the others. Explain to us the order of operations with
an example as follows: multiplication, addition, subtraction, and

parentheses 2

Mohamed went to school in 3 minutes and Omar went in 4 times the time of
Mohamed and Ali went in a time less than Mohamed's time by two minutes.
Calculate the total number of minutes that Mohamed, Omar and Ali went in.




The Egyptian Country spends on many projects in the field of road traffic, spent on
the establishment of a large and spending the Middle road in Helwan area.

n
-:‘;Million on health and. -:-million on education and 2 -;—' million housing. Eﬁ

)
h,\_j,:f

(

In light of the previous text complete.

1- Total expenditures of the Egyptian Country in all projects

2- Select what is a proper fraction and an improper fraction from the previous text

3- The difference between what Egyptian Country has spent on education and
health

4- Convert the mixed number the previous text into an improper fraction




4

Egypt was able to dazzle the world with an important event related to ancient
Egyptian antiquities, as royal antiquities were transferred from the Egyptian Museum
located in Tahrir Square in central Cairo to its new location in the National Museum
of Egyptian Civilization in Fustat, east of Cairo

The procession of transferring royal antiquities

complete the following

1-If the distance between the Egyptian Museum and New Fustat is 41 kilometers and
the medical team wants to check the state of the antiquities 4 times, the procession
will stop every kilometer to reassure the state of the antiquities.

2-If the weight of the antiquities to be transported is 625 tons, and the trucks
equipped to transport the antiguities have a load of 5 tons

How many trucks will we need?




O

Omar and Layla watched the ceremonial reopening of the Rams Road, so they
gathered information about this road that connects Karnak Temple in the north with
Luxor Temple in the south

1- If Omar walked 5 km and Layla walked 5 times Omar’s path, then the sum of his
paths are the two

2- |t was with Omar that he distributed 500 pounds to 5 security persons, and Sara
had 4500 pounds, which she distributed to 9 security persons. Which of the security
persons got a larger share? Was the one who took the money from Omar or Sarah?

The share of the security person who takes the money from Sarah greater than the
share of the security person who was taken from Omar.




Journey to the road of rams

Habiba and Salma both want to take a trip to Luxor to see the road of rams, so they
started looking for means of transportation and prices, and they found 4 ways to
reach Luxor (plane - train - bus - ship)

1- If the bus seats are as in the figure, express this in the form of a fraction,
explaining its type, then decompose it to its unit fractions.

2- If the ship’s seats are as in the figure, express it in the form of a fraction, then
compare the fraction number (1) and number (2).

[ﬁmﬁ




1- What is the difference between a proper fraction and an improper
fraction, a mixed number, and the equivalent fractions, with illustrations
and examples?

Proper fraction : a fraction its numerator is less than its denominator.
. [ [ |

1

Improper fraction : a fraction its numerator is greater than or equal its denominator.

3 B 111 e
4

Mixed number : a number made up of a whole number and a proper fraction.

1%& I 11

Equivalent fractions: fractions that name the same amount are called equivalent

fractions

(S
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2- You have studied in the order of operations that there are operations
that take place before the others. Explain to us the order of operations with
an example as follows: multiplication, addition, subtraction, and
parentheses

Order of operations

First, perform any operations in parentheses.
Next, multiply and divide from left to right.

Then, add and subtract from left to right.

Mohamed went to school in 3 minutes and Omar went in 4 times the time of
Mohamed and Ali went in a time less than Mohamed's time by two minutes.
Calculate the total number of minutes that Mohamed, Omar and Ali went in.

3+3x4+(3-2)=3+3x4+1=3+12+1=16 minutes




The Egyptian Country spends on many projects in the field of road traffic, spent on
the establishment of a large and spending the Middle road in Helwan area.

% Million on health and. g million on education and 2 g million housing.

In light of the previous text complete.

1- Total expenditures of the Egyptian Country in all projects

2 9 6 17 .3 ..
-+—-42-=2—=4-million
79 9 7 7

2- Select what is a proper fraction and an improper fraction from the previous text
% is a proper fraction g is an improper fraction

3- The difference between what Egyptian Country has spent on education and
health

N R

= 1 million

"'-IIN
"-.Il'h-.l

4- Convert the mixed number the previous text into an improper fraction

6 20
2-
7

Ihﬁmf//
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The procession of transferring royal antiquities

Egypt was able to dazzle the world with an important event related to ancient
Egyptian antiquities, as royal antiquities were transferred from the Egyptian Museum
located in Tahrir Square in central Cairo to its new location in the National Museum
of Egyptian Civilization in Fustat, east of Cairo

complete the following

1-If the distance between the Egyptian Museum and New Fustat is 41 kilometers and
the medical team wants to check the state of the antiquities 4 times, the procession
will stop every kilometer to reassure the state of the antiquities.

41 +4=10R1

2-If the weight of the antiquities to be transported is 625 tons, and the trucks
equipped to transport the antiguities have a load of 5 tons

How many trucks will we need?

625 +5=125




Omar and Layla watched the ceremonial reopening of the Rams Road, so they
gathered information about this road that connects Karnak Temple in the north with
Luxor Temple in the south

1- If Omar walked 5 km and Layla walked 5 times Omar’s path, then the sum of his
paths are the two

5+5x5=5+25=30km

2- It was with Omar that he distributed 500 pounds to 5 security persons, and Sara
had 4500 pounds, which she distributed to 9 security persons. Which of the security
persons got a larger share? Was the one who took the money from Omar or Sarah?

500 =+ 5 =100 LE
4500 + 9 =500 LE

The share of the security person who takes the money from Sarah greater than the
share of the security person who was taken from Omar.




Journey to the road of rams

Habiba and Salma both want to take a trip to Luxor to see the road of rams, so they
started looking for means of transportation and prices, and they found 4 ways to
reach Luxor (plane - train - bus - ship)

1- If the bus seats are as in the figure, express this in the form of a fraction,
explaining its type, then decompose it to its unit fractions.

I T ]

3 . :
- Isaproper fraction

ul | =
4
U |
+
1]
| w

v =

2- If the ship’s seats are as in the figure, express it in the form of a fraction, then
compare the fraction number (1) and number (2).
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SEREARMANCE TAGKE (1)
-.-!.i;‘{.m.:ﬁ&‘}.'_\'l',\"'f'."?;\{‘l@}:?! ASKS i

T e

“SEND AN EMAIL + Description

b o) ol gl o/l

your teacher asked you to send an email with a report on your favorite

sport. Fill in the following image to send the email

the topic



Stamp


student's name:.

chat email

asynchronous communication



Stamp


iab b Y
httpsy/enmujedicom

{he classroom student’s name; .

e 8 8 S B S 8 S 8

performance tasks (3)

"Online Learning Resources" Job

Description:

_)L.a_i Lu'o_} aslall aal Cg.ﬁ.ll.c- M@/;'.\.ﬁb! -« dear student

Complete the table by choosing the source you are using from the online learning resources

VI aby Egyptian Knowledge Bank

Interactive Map Maker National Geographic Kids

Landscape study in Egypt

Reading about the Egyptian pyramids

conduct a seientific experiment

Study of climate issues in different countries



Stamp


itnsy//enmujedieomy
mnrn classroom. student's name: .

“SEND AN EMAIL * Deseription

sl Uy slall asl gale m/;lml

« Dear student,
your teacher asked you to send an email with a report on your favorite
sport. Fill in the following image to send the email
Noticeable:
Your teacher's email is: Computer2022@gmail.com

Subiect: favorite sport

L] v
new message

Computer 202’7Ogma| .com

the tople

My dear teacher/......
After Greetlngs

rﬂe&"l%%%ﬂ' # (send |


Stamp


student's name:.



Stamp


iab b Y
(nips:// enmiedzam

the classroom: .

performance tasks (3)

"Online Learning Resources" Job

Description:

slai Loy L slall dal gale ddo /claa]

Complete the table by choosing the source you are using from the online learning resources

' Vlaby

Interactive Map Maker

Egyptian Knowledge Bank

National Geographic Kids

.. Student's name: .

dear student

National Geographic Kids

Landscape study in Egypt

Egyptian Knowledge Bank

Reading about the Egyptian pyramids

Vlaby

conduct a scientific experiment

Interactive Map Maker

Study of climate issues in different countries



Stamp


